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(*) Instructions to candidates:
1) Answer Q.1 OR Q.2, Q.3 OR Q.4
2) Figures to the right indicate full marks.

Q1) a) CPTjg-#_: 2 }<w =JeHd W, (‘¢~3<?S = &8
Vo= héoV = 3080 2 sinpod
L=

Jo 1. Vn= % /V3 - L60 /N3 = 24858V

Z = Ven/ Tok Pra
v mmd senes @3 oD
i B - -:[1-; 122,68 A =
F 7y = BN ER R ARST e ol = T e ST
Roh = Zpb (05 ¢ = 14.93 5= XLJ’I"\: ;Aérm% =192 -6952

b) Neat connection diagram for a three phase balanced delta connected

resistive load with correct marking of line currents, line voltages,
phase voltages and phase currents. 03M
Neat phasor diagram for a three phase balanced delta connected
resistive load with correct marking of line currents, line voltages,

phase voltages and phase currents. 03M

c) definition of Balanced load 02M
definition of unbalanced load 02M




OR
Q) & W= oy kW , Wr = =34 kW Vi=4eov

9’$ Z tosd > dpg g%:’ (ﬁ(“”"wl‘))} o ;-’-qn (r(’“l”f

L2l + w2

bby ~Boh
~ 3¢

- ('C"S’g—}an/ <l ‘10)2 = {635 g'*ah }<3 ﬁ’)}ﬁ(cﬁ(?‘sé
My — 5 (F34LFE) ~ .28

CP'T')gﬁ?L = %//“/—WL_ 16 4’.__ 3. L/ "; /&W ;Looolfbj
(1 sk 8 Y T cosd  qooo =({5)(46edE; 028>

&
CTH = oo 349 = 3¢.08 A =)
b) Phasor diagram (any one line voltage/ all three line voltages) 03M

Derivation steps for relation between line and phase voltages with correct
relation
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b) 4 correct points 1 mark for each point

c) diagram of CT 01M
application of CT 01M
diagram of PT 01M
application of PT 01M
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b) i)Definition of Voltage Regulation 1M

Formula 1M

% Ieg.= [Eg- Vg/ Eg] *100

ii) Definition of Efficiency | 1M

Formula 1M

% n=n[V,Lecose}/ {n[Vil,coso]+ Pi+n’ Pe} *100

¢) i) types of losses occurring in the transformer 1M
ii) their location - 1M
iii) whether constant or variable loss - 1M

iv) how to minimize it - 1M
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